
TRAY BRACKET

LOCK RELEASE 
BUTTON

10-24 SEMS NUT

LOCK RELEASE 
ASSIST HANDLE

FIGURE 3

CORD
CLIPS

MONITOR BRACKET - SEE STEP 5.

4mm x 12mm PHPR SCREW
(4 SUPPLIED)

MAXIMUM RECOMMENDED TOTAL WEIGHT 
(MONITOR PLUS ACCESSORIES) IS 24 LBS.

FIGURE 2

ACORN NUTS

CABLE TIE - SEE STEP 3.

SIT/STAND
MECHANISM

SIT/STAND BASE
FIGURE 1

# 10 WASHERS

1/4-20 x 1/2 
CARRIAGE BOLT 
WITH WASHER 
TO INSIDE OF 
TRAY BRACKET

LOCK RELEASE 
ASSIST HANDLE - SEE STEP 7.

FIGURE 4
WHAT'S IN THE BOX:
(1) SIT/STAND MECHANISM
(1) SIT/STAND BASE
(4) ACORN SIDE-LOCK NUT
(1) MONITOR BRACKET
(2) #10-24 SEMS NUT
(4) 4mm x 12mm PHPR SCREW
(4) CORD CLIPS
(3) CABLE TIES
(1) 1/4-20 CARRIAGE BOLT
(1) STEEL WASHER
(1) LOCK RELEASE ASSIST HANDLE
(4) #10 WASHERS

OPTIONAL ACCESSORY ITEMS:
-  KEYBOARD TRAY (REQUIRED)
-  DUAL MONITOR ADAPTER
-  TABLETMATE

TOOLS REQUIRED:
-PHILLIPS SCREWDRIVER (SHORT)
-3/8" WRENCH

1.  PLACE THE BASE ON THE WORK SURFACE WITH THE PEM STUDS FACING UP.

2.  SET THE SIT/STAND MECHANISM ONTO THE BASE, INSERTING THE (4) PEM
        STUDS INTO THE (4) HOLES ON THE MECHANISM.  USING THE (4) ACORN NUTS AND
        (4) #10 WASHERS SUPPLIED, SECURE THE MECHANSIM TO THE BASE.  (SEE FIGURE 1)

3.  REMOVE THE CABLE TIE RESTRAINING THE MECHANISM FROM INADVERTENT 
        ACTUATION.

4.  AFTER REMOVING THE CABLE TIE, THE MECHANISM WILL NEED TO BE ACTUATED IN 
        ORDER TO ATTACH A MONITOR.  KEEPING A HAND ON THE TRAY BRACKET WITH 
        DOWNWARD FORCE, PRESS THE LOCK RELEASE BUTTON TO ALLOW THE MECHANISM 
        TO RISE.

5.  ATTACH THE SUPPLIED MONITOR BRACKET TO THE MONITOR WITH THE (4) SUPPLIED 
        4mm x 12mm PHPR SCREWS USING THE 75mm OR 100mm PATTERN PROVIDED. 
        (SEE FIGURE 2)

6.  ATTACH THE MONITOR WITH MONITOR BRACKET TO THE VERTICAL COLUMN USING THE 
        (2) #10-24 SEMS NUTS PROVIDED.  (SEE FIGURE 3)

7.  ATTACH THE LOCK RELEASE ASSIST HANDLE TO THE TRAY BRACKET BY INSERTING THE 
        1/4-20 CARRIAGE BOLT WITH WASHER THRU THE SQUARE HOLE FROM THE INSIDE.  
        WHILE HOLDING THE BOLT IN THE BRACKET, THREAD THE HANDLE ONTO THE BOLT AND 
        TIGHTEN THE HANDLE.  (SEE FIGURE 4)

8.  ATTACH THE KEYBOARD TRAY TO THE TRAY BRACKET AND SECURE CORDS AND
        CABLES WITH THE CORD CLIPS PROVIDED.  MAKE SURE CORDS AND CABLES HAVE 
        PROPER LENGTH TO ALLOW FULL UP AND DOWN TRAVEL.

Adapt Pogo Desk Converter
UPL141

© UPLIFT Desk  • 1-800-349-3839 • info@upliftdesk.com • www.upliftdesk.com


